
Dodge Ram Box 2009 - 2018 and Classic 2019
Dodge Ram Box 2019-up
Honda Ridgeline 2006 - 2015
Honda Ridgeline 2017-up
Nissan Frontier 2005-up
Nissan Titan 2004-up
Toyota Tacoma 2005 - 2015
Toyota Tacoma 2016-up
Toyota Tundra 2007-up w/Deck rail system
Ford Ranger 2019-up
Chevy/GMC 1500 2019-up

Nissan Navara 2021-up

Pg. 11-12
Pg. 13-14
Pg. 15-17
Pg. 18
Pg. 19
Pg. 20
Pg. 21
Pg. 22-24
Pg. 25
Pg. 26-27
Pg. 28
Pg. 29-30
Pg. 31

Chevy/GMC Carbon Pro Bed 2019-up

IR-RTX-10

Canister

Pg. 32-33







XR





Remove any snow or 
foreign matter before 
operating cover.







wire). Note: Do not connect the wiring harness
to your battery yet.

RETRAXRETRAX







RETRAXRETRAX



Check the parts shown here. This model has
different requirements than the standard parts.

Continue with standard instructions through
step 3 (pg. 2), then return back to this guide
on how to install the mounting hardware.

Dodge Ram Box 2019-up 1500 Series New Body Installation

STEP 1: Remove the cargo rail end caps

STEP 3: Place the Ram Box rails and bulkhead seals

STEP 2: Install the cargo rail mounting hardware

Thread a 1/4-28 x 1/2” bolt through a 1/4 lock washer 
and through a 1/4 flat washer into the mounting block. 
There are three locations on each cargo rail.

STEP 4: Install the Ram Box rail mounting hardware
Before tightening the hardware, make sure the top of the Ram Box
rail is level with the top of the plastic bed rail cap. Do this on the driver
and passenger side.

Slide the T-slot nut into the top of the cargo rail.
Position the mounting block on top and fasten
with a 5/16-18 bolt through a 5/16 lock washer.

Position three block assemblies in each cargo rail, to the dimensions shown from 
the tailgate end of the cargo rail. Then tighten the screws.

2.25”
57.15mm 24.0”, 609.6mm

51.625”, 1.3mm

A

B

C

D

E

F
G H

I
J

K

LM
Do this on the driver and passenger side. 

Place the Ram Box rails onto the mounting hardware. Before sliding the rails to the bulkhead, clean the top of the truck’s bulkhead 
where it meets the front of the Ram Box rail with soap and water to remove dirt and debris. Then clean the area with isopropyl alcohol 
to remove wax or grease and to evaporate any remaing water. Allow the surface to dry, then position the bulkhead seal and apply 
pressure to the entire seal to make sure the adhesion is good. 

Do this on the driver and passenger side. 



NOTE:

STEP 5: Install Sealing around Tailgate

Dodge Ram Box 2019-up 1500 Series New Body Installation - Additional Sealing around Tailgate

After the cover is installed, verify that the cover seal touches and seals to the truck tailgate. If not, the Ram Box rails may need to 
be adjusted up or down.

Pg.14

Once the Ram Box rails are mounted, continue with the standard instructions, step 4 on page 3.

Apply provided seals to bed caps as shown in the next step to help seal the gap between the bed cap and the tailgate.

5a. Once the Ram Box rails are installed, clean the area
where the seal will go with soap and water to remove dirt
and debris. Then clean the area with isopropyl alcohol to
remove wax or grease and to evaporate any remaing
water. Allow the surface to dry, then position the tailgate seal 
and apply pressure to the entire seal to make sure the 
adhesion is good. Do this on the driver and passenger side. 

5b. Apply seal as shown below. Align seal flush along the top
edge of the bed cap and the inner edge as shown. Do this on
the driver and passenger side. 



Pg.15



Pg.16



Pg.17



Pg.18

RETRAXRETRAX

D



Pg.19

RETRAX

RETRAX

RETRAX

RETRAX



Pg. 20

RETRAX

RETRAX

RETRAX

RETRAXRETRAX
RETRAX

RETRAX

RETRAX
RETRAX

RETRAX



Pg. 21



Pg. 22

6’ model refer to page 23



Pg. 23

RETRAXRETRAX

TOOLS NEEDED:TO
T-30 Torx driver, 3/8” drive
short extension, ratchet

1  Remove factory cab header rail

2  Use T-30 Torx driver to remove 
5 fasteners securing header rail to 
front bulkhead below cab rear window

3  Peel backing paper off of foam seal
and adhere to header rail endcaps

4  Reposition factory cab header rail 
on truck bed

5  Install and and torque all mounting 
bolts to 7.5Nm (66.5 lbs-in)



Pg. 24



Pg. 25

RETRAX



Pg. 26



Pg. 27



Pg. 28



Pg. 29

TOOLS REQUIRED
Torx wrench - T-30 Drill

Slide the hole drill guide (D) onto the edge of the truck’s plastic bed cap and in between the cap and the bed (Fig. 4).  
Align the hole drill guide so that the back of the guide fits into the hole of the U-nut (Fig. 5).  Drill a 7mm, (9/32”) hole 
through the plastic bed cap using the hole drill guide (Fig. 6).  The back of the hole drill guide will prevent the 
drill from hitting the truck bed.  Repeat this for every U-nut location on both sides of the truck bed.

Fig. 4 Fig. 6

Fig. 5

C

A

BD
E

PARTS IN THE KIT:
Adapter Rail Passenger Side
Adapter Rail Drive Side (Note large notch at rear)
U-nut 10x
Hole drill guide 1x
Bolt - M6 12x
Washer 12x

C
D
E

C D E

Drill bit- 7mm, (9/32”)

The plastic truck
bed cap is shown
as a dotted line
so that the
placement of the
U-nut underneath
can be shown.

The plastic bed cap is 
removed for illustration purposes

Insert the U-nuts (C) by prying the truck's plastic bed cap away from the truck bed.  The U-nuts fit underneath the plastic 
bed cap and onto the carbon side (Fig. 1). Make sure that U-nuts 1-4 are aligned with the bed rail hole as 
shown in Fig. 2, U-nut 5 at the Tailgate end is oriented exactly opposite, (Fig. 3).  Repeat for the passenger side.

Fig. 2 Fig. 3

Fig. 1

B
A

15 234

F

F

F

STEP 1: U-nut installation

driver side

Cab endTailgate end

Install 5 U-nuts into each of the slots, and on both sides of the truck bed.

Continue with standard instructions through
step 3 (pg. 2), then return                  back 
to this guide on how to install the mounting
hardware.

Chevy/GMC Carbon Pro Bed 2019-up



The truck bed already has a threaded hole included (Fig. 7).  A hole must be drilled through the truck’s 
plastic bed cap to access the threaded hole for mounting.  Slide the hole drill guide (D) onto the edge of the truck’s 
plastic bed cap and in between the cap and the bed.  Align the hole drill guide so that the back of the hole guide aligns 
with the threaded hole.  Drill a 7mm, (9/32”) hole through the plastic bed cap using the hole drill guide.  
Repeat this on both sides of the truck bed.

Tail end, driver side Tail end, driver side

The plastic truck
bed cap is shown
as a dotted line
so that the
placement of the
threaded hole
underneath
can be shown.

Fig. 7

Pg. 30

Mount the adapter rails to the truck bed in all six of the positions created in the previous steps using the bolts (E) and
washers (F). Note that the driver side rail (B) has a notch to accommodate the bed handle.  Before tightening the bolts, 
make sure that the adapter rail is flush with the top of the truck bed cap.  Repeat for the passenger side rail (A). 

STEP 2: Drill mounting holes, continued

STEP 3: Mount the Adapter Rails

Once the CarbonPro rails are mounted, continue with the standard instructions, step 4 on page 3.

Before tightening the hardware, make 
sure the top of the CarbonPro rail is level
with the top of the plastic bed rail cap. 



Pg. 31



Items not covered under the warranty

�
�
�
�

Conditions that will void all warranty

�
�
�
�
�

�
�

Conditions and Limitations

may not apply to you.
Pg. 32



Helpful Hints For Keeping Your Cover Looking And Working Like New

Claim Procedure

Pg. 33






